1. o= WeAle] 5e e dste] a4 4 A= 7H] YER Al L.

127+54

it

>
> &8

. 235

WAl 9] 5= ihEEste] a4 4 A7 Y E A
A 242 ol A B2yt
12.7+54=23518--- — 235




\VARR 4
0x
L

. 479

Ad AR Ao A dheEste] Lk,
4.788 — 4.79




= AA R o Mz o] dols % em A FSHA L.

_--9.54em- _ _

- ~

51,516cm’

(A=9] do]) = (A Hol) + (7129 4ol)
(A22] Zel) = 51.516 + 9.54
= 5151.6 = 954 = 5.4 (cm)




SHA Q..

A 7

-

- -

--3.7cm---

)

ol

ol go] )x2+(¥

T
5.365 X 2 + 3.7

N
<A

T}

(=) =(

10.73 + 3.7 = 2.9(cm)




A% 1.84LE 600mLE°]2] ol Lol gogn
Hol &2 4 A, E= Az 9 LAA] oA L
=] il
=i L

>
>
> =gl 3
>

HED 0.04L

1.84 + 0.6 9] =& A BBy L)
1.84 +0.6 =3---0.04

wkebd 3709 el B 4= 91,
0.04L9] A2} gt




43.9L 9] F222 0.84L 5o 9] Fol o] goein
Aol B A7k glofo sH=A] T4 .

&

Yk,

g

flo

43.9+0.84 = 52.26 - - -
waba] Holk 53707 D Qg T},




& 754

o

5

5% EOAEY 122 7h At ke A




8.

@*@z(@+©)+(®—@)°l‘1¥1%§q’(
oA L.
> E:
=1 1
>aeEl 1

— % —

5 6




237k 12 md 91 G AA I v

1
7t 1= m ¥ o, Fol= ¥ mYu7t?

4
@ 1§m @ 13m ® 2m




10.

ApekelZe) ol § FokAle

1

2

Al g golg [ me} ot
(3% +5z§1) ><|:|+2 = 111%
9% x[ |+2= 11%

[]= 11% x2+9}1

5
1

i
D—§ IS 3?/_5225(@




